



**Sarvajani University**  
Sarvajani College of Engineering and Technology  
Bachelor of Technology in Artificial Intelligence and Data Science  
Winter 2025 Regular Exam Final Result Including Results From All Prior Semesters Semester-V Final Result

Notification : SU/EXAM/FinalResultNotification/ W2025Reg\_20022026-024

Print On Date: 20/Feb/2026 12:48 PM

Sr No	Enrollment No	Student Name	4					4					4					3					3					4					Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bkgd	Result	Backlogs	Cumulative Total Credits	Cumulative Earned Credits	Cumulative Grade Points	CPI
			Data Mining and Business Intelligence[BTIT13501]					Search Algorithms in Artificial Intelligence[BTAI13501]					Fundamentals of Data Science[BTAI13502]					Engineering Optimization[BTAS10501]					Professional Elective-I BTIT14501/BTIT14502 Software Engineering/Cloud Computing					OE-I BTCL15502/BTEC15501/BTME15503/BTEC15504/BTCL15503 Remote Sensing and GIS/Internet of Things/Computer Aided Drawing/Robotics and Automation/Sustainable Energy System															
			CAT	CAP	TEE	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	CAT	TEE	Course Grade	Course Code	Course Name	CAT	TEE	Course Grade	Course Code	Course Name	CAT	CAP	TEE	TEP	Course Grade											
1	ET22BTAI036	MIQDAAD KHUZEMA INDORI	CD	CD	CD	BC	CC	CD	CD	FF	BC	FF	CD	CC	CD	BB	CC	FF	FF	FF	BTIT14501	Software Engineering	CD	NA	FF	BTEC15504	Robotics and Automation	CD	BC	CD	BC	CC	72	22	3.27	12	3	Fail	S3: 1, S5: 3	107	93	603	5.64
2	ET23BTAI001	Ajudiya Harshkumar Kishorbhai	AA	AA	AA	AA	AA	AA	AB	AB	AA	AA	AA	AA	AB	AA	AA	BB	BC	BB	BTIT14501	Software Engineering	AA	CC	BB	BTCL15503	Sustainable Energy System	BB	AB	CC	AB	BB	200	22	9.09	22	0	Pass	0	107	107	1013	9.47
3	ET23BTAI002	Balar Dharmik Ajaybhai	CD	BB	BC	CC	BC	CD	BC	CD	CC	CC	AB	AB	CD	BC	BC	CD	CC	CC	BTIT14501	Software Engineering	CD	CD	CD	BTCL15502	Remote Sensing and GIS	CC	AA	CD	AA	BC	141	22	6.41	22	0	Pass	S3: 1, S4: 1	107	100	643	6.01
4	ET23BTAI003	Bavaliya Vairag Govindbhai	CC	AA	CC	AB	BB	CC	BB	BC	BC	BC	AA	AA	BC	BB	AB	BB	CC	BC	BTIT14502	Cloud Computing	AB	CD	BC	BTCL15503	Sustainable Energy System	BB	AB	CD	BB	BC	166	22	7.55	22	0	Pass	0	107	107	793	7.41
5	ET23BTAI004	Bharodiya Khushi Bhagwanbhai	BB	AA	BC	BB	BB	BC	AA	BB	BC	BB	AB	AB	BC	BB	BB	AB	CD	BC	BTIT14502	Cloud Computing	AB	CD	BC	BTCL15503	Sustainable Energy System	BB	AA	BC	AB	AB	174	22	7.91	22	0	Pass	0	107	107	841	7.86
6	ET23BTAI005	Chokhawala Dev Krunalkumar	BB	BB	BC	AB	BB	BC	BB	AB	BB	AB	AB	AB	BB	AB	AB	BB	BC	BB	BTIT14501	Software Engineering	AB	CD	BC	BTEC15501	Internet of Things	AB	AA	BC	BC	BB	181	22	8.23	22	0	Pass	0	107	107	921	8.61
7	ET23BTAI006	Dayani Zenith Maheshbhai	AA	AB	AA	AB	AA	AB	BB	AB	BB	AB	AA	AA	AA	AB	AA	AA	BB	AB	BTIT14501	Software Engineering	AB	BB	AB	BTEC15504	Robotics and Automation	AB	AB	AB	BB	AB	206	22	9.36	22	0	Pass	0	107	107	958	8.95
8	ET23BTAI008	Devani Rushabh Jaysukhbhai	BB	AA	BB	AB	AB	AB	AB	BB	BB	AB	AA	AA	BB	AB	AB	BC	BC	BC	BTIT14502	Cloud Computing	AA	BB	AB	BTCL15503	Sustainable Energy System	BB	AB	CC	AB	BB	188	22	8.55	22	0	Pass	0	107	107	901	8.42
9	ET23BTAI009	Dhandhukiya Virenkumar Janakbhai	CC	BB	BC	AB	BB	CC	CC	CD	AB	BC	BB	BB	BC	BB	BB	BC	CC	BC	BTIT14502	Cloud Computing	AA	BC	AB	BTME15503	Computer Aided Drawing	BB	AB	BC	BB	BB	172	22	7.82	22	0	Pass	0	107	107	797	7.45
10	ET23BTAI010	Dhola Shrey Narendrabhai	CC	BB	AB	AB	AB	BB	AB	AB	AB	AB	AB	AB	BB	BC	AB	BC	BC	BC	BTIT14501	Software Engineering	BB	CD	BC	BTME15503	Computer Aided Drawing	CC	BC	BC	BC	BC	178	22	8.09	22	0	Pass	0	107	107	824	7.70
11	ET23BTAI011	Dholariya Renil Kiritbhai	BC	AA	BB	AA	AB	BB	AB	BB	AA	AB	AA	AA	BB	AA	AA	CC	BC	BC	BTIT14501	Software Engineering	BB	BC	BB	BTEC15504	Robotics and Automation	BC	AA	BB	CC	BB	189	22	8.59	22	0	Pass	0	107	107	869	8.12
12	ET23BTAI012	Donga Raj Kishorbhai	BC	BC	AB	AB	AB	BB	BB	BC	BB	BB	BC	BC	CD	AB	BC	BC	CD	CC	BTIT14501	Software Engineering	CC	CD	CC	BTME15503	Computer Aided Drawing	CD	BB	CC	AB	BC	160	22	7.27	22	0	Pass	0	107	107	765	7.15
13	ET23BTAI013	Gajipara Renseeben Kanubhai	BB	AA	BC	AB	AB	AB	AA	CD	AA	BB	AA	AB	AA	AB	AA	BC	CD	CC	BTIT14501	Software Engineering	BB	CC	BC	BTEC15504	Robotics and Automation	BC	AA	BB	BC	BB	179	22	8.14	22	0	Pass	0	107	107	914	8.54
14	ET23BTAI014	Gheewala Jiya Amishkumar	BC	AB	BB	AB	AB	BC	AB	AB	AB	AB	AB	AB	AB	BB	AB	AB	CC	BB	BTIT14502	Cloud Computing	AA	CC	BB	BTEC15504	Robotics and Automation	BC	BC	CD	CD	CC	180	22	8.18	22	0	Pass	0	107	107	820	7.66
15	ET23BTAI015	Gohil Vishva Yogeshbhai	BB	AA	BB	AB	AB	BB	AB	BB	BB	AB	AA	AA	BC	AB	AB	AA	BC	AB	BTIT14502	Cloud Computing	AA	BB	AB	BTEC15504	Robotics and Automation	BC	AA	BB	CC	BB	194	22	8.82	22	0	Pass	0	107	107	894	8.36
16	ET23BTAI016	Goyani Shrey Iteshkumar	BC	AA	BB	BB	BB	BB	BB	BB	BB	BB	AA	AA	AB	BC	AB	AB	CD	BC	BTIT14501	Software Engineering	AA	BC	AB	BTME15503	Computer Aided Drawing	BB	AB	CD	AA	BB	180	22	8.18	22	0	Pass	0	107	107	876	8.19
17	ET23BTAI017	Harshav Moradiya	CC	BB	BB	AB	BB	AB	BB	BC	BB	BB	AA	AB	BC	AA	AB	AB	CD	BC	BTIT14501	Software Engineering	AB	CD	BC	BTME15503	Computer Aided Drawing	BC	AA	CD	AA	BB	174	22	7.91	22	0	Pass	0	107	107	887	8.29
18	ET23BTAI018	Hirapara Abhi Harshadbhai	BB	AB	BB	AA	AB	AA	AB	BC	AB	AB	AA	AB	BB	BB	AB	AA	CD	BC	BTIT14501	Software Engineering	BB	CD	BC	BTEC15504	Robotics and Automation	BB	AB	BB	CD	BB	182	22	8.27	22	0	Pass	0	107	107	808	7.55
19	ET23BTAI019	Italiya Dhruvkumar Rajeshbhai	BB	AA	BB	AB	AB	CC	AB	CC	BB	BC	AB	BB	AB	AA	AA	BB	BB	BB	BTIT14501	Software Engineering	AB	CC	BB	BTEC15504	Robotics and Automation	AB	AA	BB	BC	AB	188	22	8.55	22	0	Pass	0	107	107	906	8.47
20	ET23BTAI020	Jain Dil Chetan	AA	AA	AB	AA	AA	AA	AA	BB	AA	AA	AB	BB	AB	AA	AA	BB	BB	BB	BTIT14501	Software Engineering	AB	CD	BC	BTCL15503	Sustainable Energy System	BB	AB	BC	AA	AB	201	22	9.14	22	0	Pass	0	107	107	989	9.24
21	ET23BTAI021	Kahar Aaryan Hiteshbhai	CC	AB	BC	BB	BB	BB	AB	CC	BC	BB	AB	BB	BC	AA	AB	CC	CC	CC	BTIT14501	Software Engineering	BB	CD	BC	BTEC15504	Robotics and Automation	BC	BB	CC	CD	BC	167	22	7.59	22	0	Pass	0	107	107	817	7.64
22	ET23BTAI022	Kanthariya Krishkumar Prakashbhai	BC	AA	AB	BB	AB	AB	AB	BB	BB	AB	AB	AB	BC	AB	AB	BC	BB	BB	BTIT14502	Cloud Computing	AA	BC	AB	BTCL15503	Sustainable Energy System	AB	BB	BB	AB	AB	195	22	8.86	22	0	Pass	0	107	107	871	8.14

Notification : SU/EXAM/FinalResultNotification/ W2025Reg\_20022026-024

*Dhenu*

*[Signature]*

*[Signature]*

*Pan...*





**Sarvajani University**  
 Sarvajani College of Engineering and Technology  
 Bachelor of Technology in Artificial Intelligence and Data Science  
 Winter 2025 Regular Exam Final Result Including Results From All Prior Semesters Semester-V Final Result

Notification : SU/EXAM/FinalResultNotification/ W2025Reg\_20022026-024

Print On Date: 20/Feb/2026 12:48 PM

Sr No	Enrollment No	Student Name	4					4					4					3			3					4					Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bkgd	Result	Backlogs	Cumulative Total Credits	Cumulative Earned Credits	Cumulative Grade Points	CPI		
			Data Mining and Business Intelligence[BTIT13501]					Search Algorithms in Artificial Intelligence[BTAI13501]					Fundamentals of Data Science[BTAI13502]					Engineering Optimization[BTAS10501]			Professional Elective-I BTIT14501/BTIT14502 Software Engineering/Cloud Computing					OE-I BTCL15502/BTEC15501/BTME15503/BTEC15504/BTCL15503 Remote Sensing and GIS/Internet of Things/Computer Aided Drawing/Robotics and Automation/Sustainable Energy System																	
			CAT	CAP	TEE	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	CAT	TEE	Course Grade	Course Code	Course Name	CAT	TEE	Course Grade	Course Code	Course Name	CAT	CAP	TEE												TEP	Course Grade
23	ET23BTAI023	Kevadiya Dhruvit Shaileshbhai	CC	BB	BB	BC	BB	BC	BB	BC	BC	BB	AB	AA	BC	BB	AB	BC	CC	BC	BTIT14501	Software Engineering	BB	CD	BC	BTME15503	Computer Aided Drawing	BC	AB	CC	BC	BC	170	22	7.73	22	0	Pass	0	107	107	789	7.37
24	ET23BTAI024	Kevadiya Jemis Sanjaykumar	CC	AB	BB	AB	BB	BC	BB	CC	BC	BC	BB	BB	BB	AA	AB	CC	CC	CC	BTIT14501	Software Engineering	BC	CD	CC	BTCL15502	Remote Sensing and GIS	BB	AA	CC	AA	BB	164	22	7.45	22	0	Pass	0	107	107	786	7.35
25	ET23BTAI025	Khunt Kelvi Maheshbhai	BC	AA	AB	BB	AB	BB	AA	CC	AB	BB	AB	AB	AB	AA	AA	BB	BB	BB	BTIT14501	Software Engineering	AB	BC	BB	BTEC15504	Robotics and Automation	BB	AB	BC	BB	BB	188	22	8.55	22	0	Pass	0	107	107	869	8.12
26	ET23BTAI026	Kukadiya Krish Manishbhai	AB	AA	AB	BB	AB	AB	AB	BC	AB	AB	AA	AA	BB	AB	AB	AB	CC	BB	BTIT14502	Cloud Computing	AA	BB	AB	BTEC15501	Internet of Things	BB	AA	BB	BC	AB	195	22	8.86	22	0	Pass	0	107	107	864	8.07
27	ET23BTAI027	Lakdawala Vatsal Hemantkumar	BB	AA	BC	BC	BB	BC	BB	BB	BB	BB	AB	AB	AA	BB	AA	AA	CD	BC	BTIT14502	Cloud Computing	AB	AB	AB	BTEC15501	Internet of Things	AA	AA	BC	AB	AB	188	22	8.55	22	0	Pass	0	107	107	897	8.38
28	ET23BTAI028	Lakhani Neki Sanjaybhai	BC	AA	CC	AB	BB	BC	AA	CC	BB	BB	AB	AB	BC	BB	BB	BB	CD	BC	BTIT14502	Cloud Computing	AB	CD	BC	BTCL15503	Sustainable Energy System	AB	AA	CD	BB	BB	170	22	7.73	22	0	Pass	0	107	107	795	7.43
29	ET23BTAI029	Lakhani Rudra Jaysukhbhai	AA	AA	AA	AB	AA	AA	AA	BB	BB	AB	AA	AA	AB	AB	AA	AB	BB	AB	BTIT14501	Software Engineering	AA	CC	BB	BTCL15503	Sustainable Energy System	AB	AB	BC	AB	AB	203	22	9.23	22	0	Pass	0	107	107	969	9.06
30	ET23BTAI030	Lukhi Krisha Vipulbhai	BC	AA	CC	BB	BB	BC	AB	CD	AB	BC	BC	BB	CD	AB	BC	CC	CC	CC	BTIT14501	Software Engineering	BC	CC	BC	BTEC15504	Robotics and Automation	CC	AA	CD	AB	BC	155	22	7.05	22	0	Pass	0	107	107	742	6.93
31	ET23BTAI031	Makvana Jaybhai Shantilal	BB	AA	BC	BC	BB	BC	AB	BC	BB	BB	BB	BB	BC	AB	BB	AB	CD	BC	BTIT14501	Software Engineering	BB	CD	BC	BTCL15503	Sustainable Energy System	CC	AB	CC	AA	BB	170	22	7.73	22	0	Pass	0	107	107	861	8.05
32	ET23BTAI032	Mandviwala Huzefa Anish	AA	AA	AA	AA	AA	AA	AA	AB	AA	AA	AB	AB	BB	AA	AB	AA	BC	AB	BTIT14502	Cloud Computing	AA	BB	AB	BTEC15504	Robotics and Automation	AA	AA	BC	BB	AB	206	22	9.36	22	0	Pass	0	107	107	948	8.86
33	ET23BTAI033	Mistry Man Mukeshkumar	BB	AA	CC	AB	BB	BC	AB	CC	BC	BC	BB	BB	BC	BB	BB	BC	CD	CC	BTIT14501	Software Engineering	BB	CD	BC	BTCL15503	Sustainable Energy System	BC	AB	CD	BB	BC	159	22	7.23	22	0	Pass	0	107	107	798	7.46
34	ET23BTAI034	Nanavati Mahek Asheshkumar	BB	AA	CC	AB	BB	BB	BC	BB	BC	BB	BC	BC	BB	BB	BB	CC	BC	BC	BTIT14501	Software Engineering	BB	CD	BC	BTEC15504	Robotics and Automation	BB	AA	CD	CC	BC	166	22	7.55	22	0	Pass	0	107	107	840	7.85
35	ET23BTAI036	Navadiya Vasu Sanjaybhai	BB	AB	AA	AA	AA	AB	AA	AB	AB	AA	AA	AA	AB	AA	AA	AB	BB	AB	BTIT14501	Software Engineering	AA	AB	AA	BTME15503	Computer Aided Drawing	BB	AA	BB	BC	AB	213	22	9.68	22	0	Pass	0	107	107	904	8.45
36	ET23BTAI038	Pandya Vishwesh Ajaykumar	CC	AA	BB	CC	BB	BC	BB	CD	CC	BC	AB	AB	BB	BC	AB	AB	CC	BB	BTIT14502	Cloud Computing	AB	CC	BB	BTCL15503	Sustainable Energy System	BC	BB	BC	AB	BB	176	22	8.00	22	0	Pass	0	107	107	775	7.24
37	ET23BTAI039	Pansuriya Shashank Pratulbhai	AB	AA	AB	AA	AA	BB	AB	BC	AB	BB	AA	AA	BB	AA	AA	AB	CC	BB	BTIT14501	Software Engineering	AB	CD	BC	BTCL15503	Sustainable Energy System	BB	AB	CC	AB	BB	189	22	8.59	22	0	Pass	0	107	107	941	8.79
38	ET23BTAI040	Parikh Dhruvish Akashkumar	AB	AA	BC	AA	AB	AB	AA	AA	AA	AA	BC	BB	BB	AA	AB	AB	BB	AB	BTIT14501	Software Engineering	BB	CD	BC	BTEC15504	Robotics and Automation	BB	BB	BC	BC	BB	192	22	8.73	22	0	Pass	0	107	107	940	8.79
39	ET23BTAI041	Parmar Harshil Rameshbhai	BB	AB	BC	AB	BB	BB	AB	CD	BB	BC	BC	BB	BC	AA	BB	CC	CC	CC	BTIT14502	Cloud Computing	AB	BC	BB	BTEC15504	Robotics and Automation	BB	AB	CD	CD	BC	162	22	7.36	22	0	Pass	0	107	107	780	7.29
40	ET23BTAI042	Parthiv Patel	BB	BB	BC	BB	BB	CC	BB	CD	BC	BC	BB	BB	BC	AA	BB	CC	CD	CC	BTIT14501	Software Engineering	BB	CD	BC	BTEC15501	Internet of Things	AA	AA	AB	AB	AA	171	22	7.77	22	0	Pass	0	107	107	831	7.77
41	ET23BTAI043	Pasiyawala Harsh Mukeshkumar	AB	AB	BC	AA	AB	AB	AA	AB	AA	AA	AB	AB	BB	AA	AB	BB	BB	BB	BTIT14501	Software Engineering	BB	CD	BC	BTEC15501	Internet of Things	AA	AA	AB	AA	AA	197	22	8.95	22	0	Pass	0	107	107	983	9.19
42	ET23BTAI045	Patel Deep Hiteshbhai	BB	AB	BC	AA	AB	BB	BC	BB	BB	BB	AB	AB	BC	BB	BB	AB	CD	BC	BTIT14502	Cloud Computing	AA	AB	AA	BTEC15504	Robotics and Automation	BB	AB	BB	BC	BB	183	22	8.32	22	0	Pass	0	107	107	907	8.48
43	ET23BTAI046	Patel Janvi Prakashbhai	BC	BB	BB	BB	BB	AB	BB	AB	BB	AB	AB	AA	AB	BB	AB	AA	CC	BB	BTIT14501	Software Engineering	BB	BB	BB	BTEC15504	Robotics and Automation	BB	AA	BB	BC	AB	188	22	8.55	22	0	Pass	0	107	107	884	8.26
44	ET23BTAI047	Patel Krisha Hemantbhai	AA	AA	CC	AB	AB	AA	AB	BB	AA	AA	AA	AA	AA	AA	AA	BB	CC	BC	BTIT14501	Software Engineering	AA	BC	AB	BTCL15502	Remote Sensing and GIS	AB	AA	BC	AA	AB	200	22	9.09	22	0	Pass	0	107	107	969	9.06
45	ET23BTAI049	Patel Shreya Mahendrabhai	BB	AB	BB	BB	AB	BC	AB	CD	AB	BC	AA	AB	BB	BB	AB	AB	CC	BB	BTIT14501	Software Engineering	BB	CD	BC	BTCL15503	Sustainable Energy System	AB	AA	CC	AA	AB	181	22	8.23	22	0	Pass	0	107	107	854	7.98

Notification : SU/EXAM/FinalResultNotification/ W2025Reg\_20022026-024





**Sarvajani University**  
Sarvajani College of Engineering and Technology  
Bachelor of Technology in Artificial Intelligence and Data Science  
Winter 2025 Regular Exam Final Result Including Results From All Prior Semesters Semester-V Final Result

Notification : SU/EXAM/FinalResultNotification/ W2025Reg\_20022026-024

Print On Date: 20/Feb/2026 12:48 PM

Sr No	Enrollment No	Student Name	4					4					4					3			3			4					Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bklg	Result	Backlogs	Cumulative Total Credits	Cumulative Earned Credits	Cumulative Grade Points	CPI				
			Data Mining and Business Intelligence[BTIT13501]					Search Algorithms in Artificial Intelligence[BTAI13501]					Fundamentals of Data Science[BTAI13502]					Engineering Optimization[BTAS10501]			Professional Elective-I BTIT14501/BTIT14502 Software Engineering/Cloud Computing			OE-I BTCL15502/BTEC15501/BTME15503/BTEC15504/BTCL15503 Remote Sensing and GIS/Internet of Things/Computer Aided Drawing/Robotics and Automation/Sustainable Energy System																			
			CAT	CAP	TEE	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	CAT	TEE	Course Grade	Course Code	Course Name	CAT	TEE	Course Grade	Course Code	Course Name	CAT												CAP	TEE	TEP	Course Grade
46	ET23BTAI051	Patel Tiya Shaileshkumar	BC	BC	BB	BB	BB	BC	AB	BC	BB	BB	BC	BB	BB	BB	BB	BC	CC	BC	BTIT14501	Software Engineering	BB	CC	BC	BTEC15504	Robotics and Automation	BB	BC	CC	CC	BC	166	22	7.55	22	0	Pass	0	107	107	827	7.73
47	ET23BTAI052	Patel Trisha Himanshu	AB	BB	AB	AA	AA	AB	BB	AB	BB	AB	AB	AB	AA	AB	AA	BB	AB	AB	BTIT14501	Software Engineering	AB	BC	BB	BTEC15504	Robotics and Automation	BB	AA	BB	CD	BB	199	22	9.05	22	0	Pass	0	107	107	940	8.79
48	ET23BTAI053	Patel Veer Bhadrashkumar	BC	AB	BB	BB	BB	BC	AB	BC	BB	BB	BB	BB	BB	BB	BB	BC	CC	BC	BTIT14501	Software Engineering	BC	CC	BC	BTEC15504	Robotics and Automation	BC	AB	CC	BB	BB	170	22	7.73	22	0	Pass	0	107	107	827	7.73
49	ET23BTAI054	Prajapati Jaydev Khimajibhai	BC	CC	BB	BC	BB	BC	CC	CD	BB	BC	BC	BC	BB	AA	BB	CC	CD	CC	BTIT14502	Cloud Computing	AA	BB	AB	BTEC15501	Internet of Things	AB	AA	BB	AA	AB	173	22	7.86	22	0	Pass	0	107	107	897	8.38
50	ET23BTAI055	Rudra Nareshkumar Baruwala	AA	AB	AB	AB	AA	AA	BC	BB	AB	AB	AA	AB	AA	AA	AA	AB	BC	BB	BTIT14501	Software Engineering	AB	CC	BB	BTEC15501	Internet of Things	AA	AA	AA	AB	AA	204	22	9.27	22	0	Pass	0	107	107	960	8.97
51	ET23BTAI056	Sabhani Harsh Shaileshbhai	BC	AB	CC	BB	BB	BC	AB	CD	BC	BC	AB	AB	BB	BB	AB	BC	CC	BC	BTIT14501	Software Engineering	BC	CD	CC	BTEC15504	Robotics and Automation	BC	AB	CC	BB	BB	167	22	7.59	22	0	Pass	0	107	107	799	7.47
52	ET23BTAI057	Salmawala Het Nitinchandra	AA	AA	BC	AA	AB	AA	AA	AA	AA	AA	AB	AB	AA	AA	AA	AB	BC	BB	BTIT14502	Cloud Computing	AA	BB	AB	BTEC15504	Robotics and Automation	AA	AA	BB	AB	AB	203	22	9.23	22	0	Pass	0	107	107	1017	9.50
53	ET23BTAI058	Sanyati Amit Kothari	AA	AB	BB	AA	AA	AB	AB	AB	AA	AA	AA	AA	AA	BB	AA	AA	BC	AB	BTIT14502	Cloud Computing	AA	AA	AA	BTEC15501	Internet of Things	AB	AA	AB	BB	AB	213	22	9.68	22	0	Pass	0	107	107	991	9.26
54	ET23BTAI059	Sarah Sufyan Shaikh	BB	BC	AB	AB	AB	BB	BB	CC	AB	BB	AB	AB	AB	BB	AB	CC	CC	CC	BTIT14502	Cloud Computing	AA	BC	AB	BTCL15502	Remote Sensing and GIS	AA	AB	BB	AA	AA	189	22	8.59	22	0	Pass	0	107	107	841	7.86
55	ET23BTAI060	Sardhara Dhruvil Jitendrabhai	AB	AB	BC	AB	AB	BB	AB	AB	BB	AB	AB	BB	AB	BB	AB	AB	AB	AB	BTIT14501	Software Engineering	BB	BC	BB	BTCL15503	Sustainable Energy System	BB	AA	BC	BB	BB	191	22	8.68	22	0	Pass	0	107	107	866	8.09
56	ET23BTAI061	Sharma Divya Mukeshbhai	AB	AA	AB	BB	AB	AA	AB	AA	AB	AA	AA	AB	AB	AB	AA	AA	BC	AB	BTIT14502	Cloud Computing	AA	BB	AB	BTCL15503	Sustainable Energy System	AB	AA	BB	AB	AB	206	22	9.36	22	0	Pass	0	107	107	970	9.07
57	ET23BTAI062	Shethna Krishna Pankaj	AA	AB	AB	AA	AA	AA	AA	AA	AA	AA	AA	AA	AB	AA	AA	BB	BC	BB	BTIT14501	Software Engineering	AA	BB	AB	BTEC15504	Robotics and Automation	AB	AA	BB	AB	AB	207	22	9.41	22	0	Pass	0	107	107	1029	9.62
58	ET23BTAI063	Solanki Rushabh Rajeshbhai	BB	AB	BC	BB	BB	BC	BB	BC	AB	BB	AB	AB	CC	AB	BB	CD	CD	CD	BTIT14502	Cloud Computing	AB	BC	BB	BTEC15501	Internet of Things	AB	AA	BC	AB	AB	171	22	7.77	22	0	Pass	0	107	107	863	8.07
59	ET23BTAI064	Sutariya Shlok Ghanshyambhai	BC	BB	AB	BB	AB	BB	AB	BB	BB	AB	AB	AB	AB	AA	AA	BB	BC	BB	BTIT14501	Software Engineering	BB	CD	BC	BTCL15502	Remote Sensing and GIS	AA	AA	AB	AA	AA	197	22	8.95	22	0	Pass	0	107	107	896	8.37
60	ET23BTAI065	Sutariya Tishaben Ishvarbhai	CC	AB	AB	BB	BB	BC	BB	CC	AB	BB	BB	BC	AB	BC	AB	CC	CC	CC	BTIT14502	Cloud Computing	AA	BB	AB	BTCL15503	Sustainable Energy System	BC	AB	CC	AB	BB	177	22	8.05	22	0	Pass	0	107	107	840	7.85
61	ET23BTAI066	Thummar Yash Piyushkumar	CC	BB	CC	CC	BC	CD	BC	CD	BC	CC	CC	BB	CD	BC	BC	CC	FF	FF	BTIT14501	Software Engineering	CC	NA	FF	BTEC15501	Internet of Things	BC	AA	CC	BB	BB	112	22	5.09	16	2	Fail	S1: 1, S4: 1, S5: 2	107	93	672	6.28
62	ET23BTAI067	Vekriya Parth Prakashbhai	CC	BC	AB	BC	BB	CC	BC	CD	BC	CC	CD	BB	BB	AA	BB	BC	CD	CC	BTIT14502	Cloud Computing	AA	CC	BB	BTEC15501	Internet of Things	BC	AA	BB	AA	AB	166	22	7.55	22	0	Pass	0	107	107	748	6.99
63	ET23BTAI068	Viradiya Nely Ganpatbhai	AB	AA	BB	AB	AB	BB	AB	BB	AB	AB	AA	AA	AB	AA	AA	AB	BC	BB	BTIT14501	Software Engineering	AB	BB	AB	BTEC15504	Robotics and Automation	AA	AA	AA	AA	AA	203	22	9.23	22	0	Pass	0	107	107	963	9.00
64	ET23BTAI069	Viradiya Prince Hiteshbhai	BC	AB	AB	BC	AB	AB	BB	CD	BB	BB	AB	AB	AB	BC	AB	BC	BB	BB	BTIT14502	Cloud Computing	AA	BB	AB	BTCL15503	Sustainable Energy System	BC	BB	CD	AA	BC	183	22	8.32	22	0	Pass	0	107	107	824	7.70
65	ET23BTAI070	Vithani Rutu Harehbhai	AA	AA	AA	AB	AA	AA	AB	AA	AA	AA	AA	AA	AA	AA	AA	AA	AB	AA	BTIT14501	Software Engineering	AB	AA	AA	BTEC15504	Robotics and Automation	BB	AA	AA	BB	AA	220	22	10.00	22	0	Pass	0	107	107	1041	9.73
66	ET23BTAI071	Zaveri Dhvani Vikrambhai	AA	AA	AA	AA	AA	AA	AA	AB	AA	AA	AA	AA	AB	AB	AA	AA	BB	AB	BTIT14502	Cloud Computing	AA	BB	AB	BTME15503	Computer Aided Drawing	BB	AA	AB	AA	AA	214	22	9.73	22	0	Pass	0	107	107	1041	9.73
67	ET24BTAI801	DAHIVELKAR ASHVINI SHAILESHKUMAR	BB	BB	BB	AB	AB	CC	AB	CD	AB	BC	BB	BB	CC	BB	BB	CC	CD	CC	BTIT14502	Cloud Computing	AA	CD	BC	BTCL15502	Remote Sensing and GIS	AB	AA	CC	AA	AB	171	22	7.77	22	0	Pass	0	65	65	504	7.75
68	ET24BTAI802	GAJERA DHARMIKABEN RAJANIBHAI	BB	AA	BB	AB	AB	AB	AA	CD	AA	BB	AB	AB	BC	AB	AB	BB	CD	BC	BTIT14502	Cloud Computing	AA	AB	AA	BTCL15502	Remote Sensing and GIS	AA	AA	BB	AA	AA	195	22	8.86	22	0	Pass	0	65	65	577	8.88

Notification : SU/EXAM/FinalResultNotification/ W2025Reg\_20022026-024

*Dhawan*

*[Signature]*

*[Signature]*

*Pandey*





**Sarvajanik University**  
 Sarvajanik College of Engineering and Technology  
 Bachelor of Technology in Artificial Intelligence and Data Science  
 Winter 2025 Regular Exam Final Result Including Results From All Prior Semesters Semester-V Final Result

Notification : SU/EXAM/FinalResultNotification/ W2025Reg\_20022026-024

Print On Date: 20/Feb/2026 12:48

Sr No	Enrollment No	Student Name	No. of Credit					4					4					3			3					4					Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bklg	Result	Backlogs	Cumulative Total Credits	Cumulative Earned Credits	Cumulative Grade Points	CPI		
			Data Mining and Business Intelligence[BTIT13501]					Search Algorithms in Artificial Intelligence[BTAI13501]					Fundamentals of Data Science[BTAI13502]					Engineering Optimization[BTAS10501]			Professional Elective-I BTIT14501/BTIT14502 Software Engineering/Cloud Computing					OE-I BTCL15502/BTEC15501/BTME15503/BTEC15504/BTCL15503 Remote Sensing and GIS/Internet of Things/Computer Aided Drawing/Robotics and Automation/Sustainable Energy System																	
			CAT	CAP	TEE	TTP	Course Grade	CAT	CAP	TEE	TTP	Course Grade	CAT	CAP	TEE	TTP	Course Grade	CAT	TEE	Course Grade	Course Code	Course Name	CAT	TEE	Course Grade	Course Code	Course Name	CAT	CAP	TEE												TTP	Course Grade
69	ET24BTAI803	KUVADIYA DHRUVI RAJESHKUMAR	BB	AA	BB	AB	AB	BB	AA	CC	AB	BB	AB	AB	AA	BB	AA	BB	CC	BC	BTIT14501	Software Engineering	AB	AA	AA	BTCL15502	Remote Sensing and GIS	AA	AA	BB	AA	AA	199	22	9.05	22	0	Pass	0	65	65	571	8.78
70	ET24BTAI804	MAKAVANA MITKUMAR SHAILESHBHAI	AB	AA	AB	BB	AB	BC	AA	CC	BB	BB	AB	AB	BB	BB	AB	BB	CD	BC	BTIT14502	Cloud Computing	AA	BB	AB	BTEC15504	Robotics and Automation	BB	BB	AB	BB	AB	188	22	8.55	22	0	Pass	0	65	65	586	9.02
71	ET24BTAI805	MANAV PATEL	AA	AA	AB	AA	AA	AB	AA	AB	AA	AA	AB	AB	AB	AB	AB	AB	BC	BB	BTIT14502	Cloud Computing	AA	AB	AA	BTEC15504	Robotics and Automation	BB	AA	AA	AA	AA	210	22	9.55	22	0	Pass	0	65	65	604	9.29
72	ET24BTAI806	MORADIYA MILI BHARATBHAI	BC	AA	AA	BC	AB	CD	AB	BC	AB	BB	AA	AB	AB	AB	AA	AB	BC	BB	BTIT14501	Software Engineering	AA	AB	AA	BTCL15502	Remote Sensing and GIS	AA	AA	AA	AA	AA	202	22	9.18	22	0	Pass	0	65	65	600	9.23
73	ET24BTAI807	PARMAR VATSAL PARESHBHAI	BC	BB	CC	AB	BB	CC	AB	CD	AB	BC	AB	AB	CC	BB	BB	CC	CC	CC	BTIT14502	Cloud Computing	AA	AB	AA	BTEC15504	Robotics and Automation	BC	AB	BC	BB	BB	172	22	7.82	22	0	Pass	0	65	65	514	7.91

Notification : SU/EXAM/FinalResultNotification/ W2025Reg\_20022026-024

Prepared by & Checked by,  
 Dr. Dhruti Sharma  
 SU Exam OSD/Assessment Coordinator

Verified by,  
 Mr. Nimesh Desai,  
 SU-Exam Section

Dr. Hiren H. Patel  
 Dean/Principal,  
 SCET, Sarvajanik University

Dr. Nilesh Pandya  
 Controller of Examination,  
 Sarvajanik University

